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He said, this is my son and he is a Kohain  — X7 3727 777 512 928w 997

OVERVIEW

The X713 cites a Xn*>72 in which °27 was 79v» a person 1737 (for 77170 only, but
not for 1PomM”) based on the testimony of his father. *27 explained that the father is
believed 1m0 12°9K:77, since it is 77170 19°2872 17°2 (but not 17°2 to marry him to a
ntﬂ‘ﬂ’?:a).1 Our Mo0N clarifies this case.
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Since the Xn»72 mentions that the father said, ‘this is my son and he is a 372’,
this indicates that it is not known to us whether this is his son, without the
testimony of the father -
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And the father comes to testify that this is his son, and also that he is a 37>,

meaning that the son is not the son of a divorcee which would disqualify him from

7172, Now nm90n proves his point -
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For if we are discussing a case where it is known to us that this is his son, the
Xn>72 should have stated that the father said, ‘my son here, is a 3772°, without the

"Y"'5' (without the ‘and’ which makes it into two testimonies).

nooIN asks:
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And it is astounding! If indeed it is so (that we do not know [on our own] that this
is his son), the father should be believed according to everyone (even X171 ") for

both 2190 and °om3, for he has a 1w, that he could have said he is not his son,
but nevertheless he is a 7772; in which case since he is not related he would be believed (together
with another 7v) even for 10m1°. On account of this 131 we should also believe him now (together

' This means that if we require two 2>7¥ for 1om and there is an X"y who is testifying that the son is a 1713, the father
cannot be the second 1°om 1M7¥% ¥ (see following 'Ri7 1K1 7"7 '0N).
? Seemingly it is obvious that if the father is a (known) 1712 then if we believe him that this is his son, the son is also a
173, why the need to add X17 1721; therefore nvoIN explains that the testimony is that he is not a Aw173 12, which
would make him a %511 who is 723701 9109.
31f it is known that he is 113, (obviously) he would be believed 1170 1279872, but may not be believed 1°0n7 if there
is a 717 that the son is a w13 j2. The dual wr°n of this case where we do not know that he is his son is that 7281
7”102 1938177, and 1°0MYH 1K1K even if there is no 9 that he is a w73 J2.
* See “Thinking it over’.
5537 need not have said that he is 7170 ¥°8;7> 1R1 because it is 17°2, but rather because he has a 1% of 112 1°R.
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with another 7v) even for PonY.

N1B0IN answers:
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And one can say; that even though the father has a », he is not believed,

because according to his testimony he is a relative and therefore n7v% 9105 -
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As pnx> 72 3am1 27 said in Y97 P19, ‘according to your words you are a "nis,

and a "n> cannot testify’ -
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And a person (this purported *n1d) is not believed to disqualify his son.

mooIN anticipates a difficulty (with his view that since 70X 219 7°9277 there can be no 1»):
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And even though 521 shortly states, ‘I believe the father 721902 Y9998 since it

is in his power 721702 Y99oR7Y’ -
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It is evident from this reasoning of °27 that even though that according to the
father’s words he is a relative, nevertheless he is believed with a 99R» 12»
779N why therefore is he also not believed with a 2 (that 112 1K) to be Pon»? novn?

mooIn responds:
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% In a case of a regular 13°n, for instance 7117 W22 °ny7d, his claim of "ny7»d is a valid claim; however it is
considerably weakened by the "vw which the m%» is holding that indicates (but not conclusively) that he did not pay.
The 11 of 7™ is effective in supporting the valid claim of *ny7s to the extent that the 727 cannot collect unless he
is o»pn the qvw. However here (in order 1omh 1moya? or even 1mIn 12°9872) we require M7y (either one for 7m0
or two for 7°017°) so once he admits that this is his son; this is an invalid M7y since he is a 217p and cannot testify for
his son. Therefore, even though he has a 1, but since there is no M7y, his claim is not accepted (see M p"71n 2"n
27w MK N0 nw).
7 The case there is where someone approached 7717° ' and told him that he was =3 by himself (which is an
invalid n°3). This "' told " that he has children (who were 2’1 as 2°2%7w°). *"1 told him you are believed to
disqualify yourself (since X710°RT X2°nr7 °wo1 "wn), however (from the perspective of your children) you are not
believed (even in regards to yourself) to disqualify your children, because (as *"217 explains there) according to your
testimony you are a >m>3 and a >M3 is M7Y7 2109,
8 In this case of the 73, we really consider him a X" (see footnote # 7), so let us believe him that his son is a 9109
with a a» that he did not have to say that this is his son. He merely could have said, ‘he is 2109°. This proves that
once he said °12, he is a 2177 and is not believed (even with a 1»).
? See 7"mn who writes 7732 1097 1K1 ANX XY TAXY DX 91099 0K 7K. See w"w.
19 See ww 77 >"w; the father is a 172 and has 72170 and need not ask anyone permission to give it to his son.
"' In both cases (y70m™ ;1n) the father admits to being a 21, yet 7170 12°987° he is believed 1972875 1727 W92,
however 1om"? he is not believed 112 X7 »2; why the difference?!
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There (regarding 7m17n), the father is certainly believed since the w2 (of 172
¥99x19) is valid even if we know that he is his son'” -
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However this a% (of 112 1°X) to be Ponv? 75vn, once we know that he is 133, there
is no 1an, therefore since X177 217 11277, there is no W,

SUMMARY
A 1 1s not effective (by o>7v) if they admit they are relatives. However the 122 of
17°2 18 effective.

THINKING IT OVER

moon asks that he should be ¥"2% 181 (even according to n1"1) because of the w»
that 112 1X.'* Seemingly we see that i1 argues with 17 even regarding 7N,
even though that by 711n there is the W of 19987 172, which proves that 1"
rejects the concept of 13 here, so why would he agree to the 1 of 132 1x!"°

"2 The w2 of 1732 is a much stronger reason to believe him, for he need not come to 7™32 at all. The father is
empowered 1m17n 1270877 regardless (the father is considered as if he has ownership on to whom to give the m17n),
there is no need for M7y, and therefore even though he is a 211p, the father is 77170 1979877 1K1
1> The 1an of 112 X is a ‘regular’ W»; it is not on account of 17°3, therefore in order to be effective we still require a
M7y n7a1 (both for i1 and 1°onY°). There cannot be a 7Y N1TA7 since he is a 217p.
' See footnote # 4.
15 See the end of Moo (footnotes 12 & 13) that he refers to 17738777 17°2 as a 13°», and considers it a valid W even if
112X is not a valid 1an. If 1" rejects the 13 of 17°2 he should certainly reject the 13 of 112 1K.
16 See 1> MX prix® DTO.
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